Name: ______________________________________________________________________________		Period: __________

7.4 Subtracting Algebraic Expressions
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**REMEMBER: A _______________________________ sign in front of 
the parenthesis really means to distribute a ___________ to 
each term inside of the parenthesis.
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3.6x - 2(2.7 + 0.25x)
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Which expression(s) are equivalent to (6y + 15) = (4 = 8y)?
I by+15-4-8y
I by +15-4+8y
1. 6y + 15 + (=1)(4 - 8y)
IV. 6y + 15 + (-4) - (-8y)
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3.6x - 2(2.7 + 0.25x)
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(=9x + 15) = (2x = 1)
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Got It?
What is the correct order for the steps of simplifying the expression
(=9x + 15) - (2x = 1)?
I -9x-2x+15+1
I -11x+16
L =9x + 15 = 2x = (=1)
V. -9%x+15-2x+1




image11.png
Two friends shop for fresh
fruit. Jackson buys a
watermelon for $7.45 and 3
pounds of cherries. Aaron
buys a pineapple for $3.50
and 2 pounds of cherries.
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Got It?

Write and simplify an expression for the area of the shaded region.
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When you subtract two algebraic expressions, you
distribute the minus sign as you remove the parentheses.
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(x+4)-(2-7x)
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(-1.5h + 3) - 2(-0.5 + 4h) =
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16m - (3 + 8m) =





7 subrcing b presians
When you subtract two algabrac expressions, you
disrbute the minus sign 2 you remove the prentheses.
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